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LIFE SCIENCE 

LSE-07 : TAXONOMY AND EVOLUTION 

Time : 2 hours 	 Maximum Marks : 50 

Note : Question no. 1 is compulsory. Attempt any four 

questions from questions no. 2 to 6. Attempt five 

questions in all. All questions carry equal marks. 

1. (a) Fill in the blanks : 	 4x1=-4 

(i) 	 and genetic recombination 
are the major sources of Variation. 

(ii) 	 gave the system of binomial 
nomenclature for scientific naming of 
organisms. 

(iii)	  is a place for 
growing plants in a controlled 
environment. 

(iv) An equipment called 	 is used 
for keeping freshly collected specimens. 
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(b) Choose the correct answer in any four of the 

following : 	 4x1=4 

(i) The Great Banyan tree is located in 
(Sibpur 	Botanical 

garden/Kew garden) 

(ii) Bacteria and Cyanobacteria belong to 
the 	kingdom 
(Plantae/Monera) 

(iii) Flora of Delhi has been compiled by 
	. (C.R. Babu/J.K. Maheshwari) 

(iv) Vermiform appendix in humans is a 
	. (Vestigial organ/Analogous 
organ) 

(v) 	 is a place where dried and 
pressed specimens are classified and 
stored. (Herbarium/Museum) 

(c) 	Match the items given in column A with 

column B : 	 2 

Column A 	 Column B 

(i) Fern a. Arthropod 

(ii) Exoskeleton b. Mammals 

(iii) 	Umbel c. Type of 

Inflorescence 

(iv) Hair d. Prothallus 
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2. (a) Explain any two of the following terms : 	5 

(i) Genus 

(ii) Omega Taxonomy 

(iii) Karyotype 

(iv) Hybrid sterility 

(b) Write notes on any two of the 

following 
	

5 

(i) Botanical Gardens 

(ii) Wildlife Sanctuary 

(iii) Numerical Taxonomy 

3. (a) Why are field trips important for a plant 

taxonomist ? What data does he/she collect 

during a field trip ? 

(b) Who proposed the 5 kingdom classification ? 

Name the 5 kingdoms and give any one 

character and one example of each. 5 

4. (a) What are the various types of evidences of 

evolution ? Name them and explain any one 

of them in detail. 

(b) What is Neo-Darwinism ? 
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5. Write notes on any two of the following : 	5+5 

(a) Industrial Melanism 

(b) Post-mating Isolating mechanisms 

(c) Gene mutations 

6. (a) Name the three mechanisms of speciation. 

Add a note on the mechanism related to 

geographical speciation. 

(b) Describe the characteristic features of 

Homo erectus. 	 5 
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